Phys 100
Fall 2023

Concepts of Physics: Test 2

day month 3

Name: Solubion

Instructions

e There are 14 questions on 8 pages.

Total: / 50

e Show your reasoning and calculations and always explain your answers.
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Question 1
Two balls are thrown upward above the ground. Ball A BQ
has mass 4kg and ball B has mass 2kg. At a given mo-
ment their positions are as illustrated and ball A moves A 6m
up with speed 8m/s while ball B moves up with speed
10m/s. 4m

a) Which of the following (choose one) is true? Ground
has a larger kinetic energy than B.
ii) A has a smaller kinetic energy than B. :—L X 4\61(%:\«11? = 3
iii) A has the same kinetic energy as B.
: . : Kg=12x2 W(gmgj = |03
b) Which of the following (choose one) is true? z

@A has a larger potential energy than B. _ Ahewd, Srisl -
ii) A has a smaller potential energy than B. PE = Qg Bmis'xdm= 1557
iii) A has the same potential energy as B. PEg = ng YA km )5tk bm = ngJd
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Question 2

A 0.40kg ball is thrown upwards and has total energy 12J. Determine its potential energy
and its height above the ground at the moment that it reaches its maximum height above

the ground. /)rL K 1’@)6\4% ¥E =) =D 'E:KE -={=DE. 2 123=0+PE

=» Pe=12]
T 123
AR = =3 Im
g Mass ¥4, m e 0,40k x Al
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Two carts are initially released from rest on identical "
ramps. They are both released from the same location
(point A). Cart 1 has mass 50kg and cart 2 has mass
80kg. Which of the following (choose one) is true
when they reach point B?

i) The total energy of cart 2 is the same as the total energy of cart 1.
he total energy of cart 2 is larger than the total energy of cart 1.
iii) The total energy of cart 2 is smaller than the total energy of cart 1.
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Question 4

A 0.25kg ball is released from rest at the illustrated
the point on a track. This is 4.0 m above the ground.
The ball slides down the frictionless track without any
air resistance.

a) Determine the total energy of the ball at the
+Z moment when it is released. é 13 round

E= KE+PE
KE = 4 Mast % @wd)l - Z’ O,ZSliﬁ X(Omfs)z = O0J

PE= Muss X 4.3 X Mqhh 6:25€g xAE mlstx 4.0m = 4,83

2. b) Determine the kinetic and potential energies at point A. S E=9.8]T
( E=%83 E=KE 3+ PE
PE= mass x Q.8 xhag Ut H%{ &qgj Co=0
= 0.75kg x4.8mlix() =0 ’
3 ¢) Determine the speed of the ball at point A. o

]

ot e .
(ﬂ speach = ‘/QKE b /2_@'_53, %.Am/s

mess A.25m
SP%O( = 49mLs

d) Explain whether the speed of the ball at B is the same as, larger than or smaller than
1 the speed of the ball at A.

%@_ﬁ' okl owgy 1S same ab AR, Thae s no Polmbaf@ﬂw
b AB =0 Ke=rlal swgy - ke some

=us}>zw( s
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Question 5 Release

A 3.0kg pendulum (a small ball that swings from a string) is released
RS

from rest at the indicated position. The gravitational @A&gY of the

pendulum at the moment that it is released is 54 J. Determine the

speed of the pendulum as it passes the ground level.

M wese E= KE *PE = 071543

03 =543
arest Ground
: 9] e i
At lowest Fm”+ E = Ke+P =0 $4F= KE
o [aee 1 27543 .
Spett = \{ T3 0 o% - L
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Question 6

A student who understands the laws of physics but has never seen a pendulum volunteers for
a demonstration involving a heavy ball attached by a cable to the ceiling. The student stands
with his back to the wall and the ball is pulled aside so that it almost touches his nose. The
ball is released and swings back and forth. Use energy to explain whether the student needs
to worry or not about the ball hitting his nose at it returns.

sin gy s congeved,
at- haghest pont PE s sonu
s as dease 4pryy
S PE =mass x AExbhaght
A Righest point Wl S0 = [’L@{jl’l* s Son.
Vineh e owgy = wgy=PE RBrdulum  will wads skt poit
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Question 7
A car is initially at rest at the top of an incline and
is released. It reaches the bottom of the incline and
slides for some distance along the horizontal section
until it stops. Which of the following (choose one)
is true of the sum of kinetic and potential energies,
KE + PE?

PE dwps  (devenss)
KEstAs ak @0 ads o+ w0

i) K F+ PE stays constant throughout the motion.
it) KE + PFE increases throughout the motion.
K E + PE decreases throughout the motion,

Question 8

A fluorescent bulb is on for 10min and uses 600J of energy. An incandescent bulb is on for
2min and uses 300J of energy. For which bulb is the power used the greatest? Explain your

=) YEAPE  decenses) /3

answer.
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Question 9
Three bulbs each take electric energy input and pro-
duce light energy output. These are described in the
table, Which of the following {choose one) describes
the correct rank of the efficiencies of the bulbs?

i) Green largest, red middle, blue smallest,
ii) Red largest, green middle, blue smallest

ili} Green largest, blue middle, red smallest.
@'B lue largest, green middle, red smallest.

/3
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Light | Electric E | Light E Gﬂ'amj
Red 300J 60J 0. 20
Green 200J 807 G.40
Blue 80J 40J ¢.50
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Question 10 ® ¢ Cs— &,
Three charged particles are held fixed as illustrated.
. i +2C B —-2C
'The particles on the end have exactly opposite @ O
charges. Various charged particles can be placed ' : ' i I I
in the middle location {B). Which of the following & ey @y )

(choose one) is true regarding the net force on B? ek e i —0

i) The net force is zero regardless of whether B is positive or negative.

Both & Nen - o

ii) The net force is zero if B is positive and not zero if B is negative.

iii) The net force is not zero if B is positive and zero if B is negative,

iv) JThe net force is not zero regardless of whether B is positive or negative.
/3

Question 11

Three charged particles are held at fixed locations. The distances between A
adjacent charges are the same and the sizes of their charges are the same.

The charge on the left (A) is initially held at rest and is then released. After

it is released, which way will it begin to move? Explain your answer.

B orepels A~ l@f%?f ke comse. 8 is tleser
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Question 12

Magnesium chloride is a type of salt that consists of magnesium jons and chlorine ions. Each
magnesium ion is produced from a neutral magnesium atom (12 electrons, 12 protons and 12
neutrons) that has lost two electrons. Fach chlorine ion is produced from a neutral chlorine
atom (17 electrons, 17 protons and 18 neutrons) that has gained one electron. Explain
how many chlorine ions will need to combine with each magnesium ion to form a neutral
combination.
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Question 13

An alpha particle consists of two protons and two neutrons. Such alpha particles are fired
toward the nucleus of a gold atom. Which of the following (choose one) is true as the alpha
particle approaches the gold nucleus? +

O +
i) The nucleus exerts an attractive force on the alpha particle. dlpl«[a nw;{gus

The nucleus exerts a repulsive force on the alpha particle. ,
ii1) The nucleus does not exert any force on the alpha particle. hke CLLWQE,-S f‘(tP@/) .
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Question 14

A current of 0.0020 A flows through a part of a circuit in an electronic device.

a) Determine the total charge that flows through this part of the circuit in 2 minutes
(120s).

C\Aarg(; = cument xhwe —~» Zmnx 60s foyn = 1201

= 0,0020Ax 205> 0240 C

b) The current consists of electrons. Determine the total number of electrons that flow
through this part of the circuit in 2 minutes (120s).

oal ¢
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